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9 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 7.73 99.16] #h Lyt 000 ~ 7.73] 243 12.99 ZTh LSt 1.00] 500 ~ 1140 99.16| #hbist | 500 ~ 11.40| 243 12.99
4 100kN/mM#%# 8% % 1.00/0.00 ~ 0.60 108.90|3m#%E# Bz 3| - ~ - - —| 100kN/M%#8 2% 1.00/ 1151 ~ 13.30 108.90|3m%i#B% % -~ - - -
ZTh LS 1.00/ 060 ~ 8.38 100.00] #hList [000 ~ 8.38| 242 12.96 Zh s 1.00] 500 ~ 1151 100.00| #hlust | 500 ~ 13.30| 2.42 12.96
4 100kN/mM#%# 8% % -1 -~ - -|3mEB2Z| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 7.61 97.46] #hList | 000 ~ 761] 202 10.83 Zh s 1.00] 500 ~ 10.70 97.46| #hiist | 500 ~ 10.70] 2.02 10.83
5 100kN/mM#%#BZ % -1 -~ - -|3mEB2Z| - ~ - - -| 100kN/mZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZThLS 1.00/ 000 ~ 486 60.55] #hList 000 ~ 486] 1.95 10.41 Zh s 1.00] 500 ~ 560 60.55| #hbList | 500 ~ 560] 1.95 10.41
7 100kN/mM#%# 8% % -1 -~ - -|3mEB2Z| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 658 83.01| #hbList |000 ~ 658] 1.83 9.82 Zh s 1.00] 500 ~ 800 83.01| #hbist | 500 ~ 800| 1.83 9.82
8 100kN/mM#%# 8% % -1 -~ - -|3mEB2Z| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 748 9555 #hbList 000 ~ 748| 1.80 9.64 Zh s 1.00] 500 ~ 9.80 95.55| #hulst | 500 ~ 9.80| 1.80 9.64
9 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00] 0.00 ~ 554 69.19] ZnList |0.00 ~ 554| 1.88 10.04 Zzh st 1.00f 500 ~ 6.35 69.19] Zh Ll | 500 ~ 6.35| 1.88 10.04
10 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 753 96.25| ZnList |0.00 ~ 753] 1.79 9.58 Zh st 1.00f 500 ~ 9.90 96.25| Zn Lyt | 500 ~ 990 1.79 9.58
11 100kN/mM##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00] 0.00 ~ 6.14 77.04] zh st | 000 ~ 6.14] 1.90 10.17 Zh st 1.00f 500 ~ 745 7704 Zh L4t | 500 ~ 745] 1.90 10.17
12 100kN/mM##BZ % 1.00{0.00 ~ 1.24 118.76|3m% 8% % -~ - - -| 100kN/ %z % 1.00| 10.66 ~ 14.90 118.76|3m%E# %% -~ - - -
ZnLst 1.00] 1.24 ~ 9.03 100.00] Zh st | 0.00 ~ 9.03] 2.11 11.29 Zh st 1.00f 5.00 ~ 10.66 100.00f ZH1list | 5.00 ~ 1490 2.11 11.29
13 100kN/m##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00] 0.00 ~ 486 60.60| ZnList | 000 ~ 486| 1.78 9.53 Zh st 1.00f 500 ~ 5.15 60.60| ZnLis | 500 ~ 5.15( 1.78 9.53
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
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Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
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Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZHNLS ~ ZThLLst ~ ZTHLS ~
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